FUBAG MOTOBYP FPB 52 (38272)

NO3ULNU KO HAVMMEHOBAHUWE KOJI-BO

03.01.02.02.021 MOTOBVYP (6e3 uineka)

1 03.06.052 JBUTATEJIb (1E44F-5-TD)

2 04.01.053.0001 AJIATITEP

3 05.04.0459 BUHT (M6x20)

4 04.01.057.0007 JEMIIOEP (MeTamnuyeckuii)

5 04.01.045.0027 TPUITEP B CBOPE C KHOIIKOM (BKJI/BBIKJT)

6 04.01.057.0004 JEMII®EP (pe3uHOBbIiT)

7 04.03.025.0029 PYUKA

8 05.04.0201 BUHT (M8x35)

9 03.10.0100 PEOAYKTOP (mo3. 1-19)

10 05.04.0019 BUHT (M6x50)

11 05.03.0202 3AXKUM (tun D)

12 03.19.0001 AJIATITEP ITPYXUHHBII

IIHEK (HY-HJJQ-S) (D60xL 800mm)

IIHEK (HY-HJJQ-S) (D80x L 800mm)

IIHEK (HY-HJJQ-S) (D100x L 800mm)

IIHEK (HY-HJJQ-S) (D120x L 800mm)

13 IIHEK (HY-HJJQ-S) (D150x L 800mm)

IIHEK (HY-HJJQ-S) (D200x L 800mm)

IIHEK (HY-HJJQ-S) (D250x L 800mm)

IIHEK (HY-HJJQ-S) (D300x L 800mm)

IIHEK (HY-HJJQ-S) (D60x L 800mm)

HOX (mpsimoii) (D60mm)

HOX (mpsimoii) (D80mm)

HOX (mpsimoii) (D100mm)

RlRrlRr|lRr|RrRrRrRr]RrRr|R|RrRrRRr[]R,[R, MR~ ]-

14 HOX (mpsimoii) (D120mm)




HOX (npsimoii) (D150mm)

HOX (mpsvoit) (D200mm)

HOX (mpsivoit) (D250mm)

15

BUHT (M5x12)

16

HOX (3y6uatsiit) HJJQ-S (D60mm)

HOX (3y6uatsiit) HIJQ-S (DSOmm)

HOX (3y6uatsiit) HJJQ-S (D100mm)

HOX (3y6uatsiit) HJJQ-S (D120mm )

HOX (3y6uatsiit) HJJQ-S (D150mm )

HOX (3y6uatsiit) HJJQ-S (D200mm )

HOX (3y6uarstit) HJJQ-S (D250mm )

HOX (3y6uarstit) HJJQ-S (D300mm )

17

BUHT (M5x12)

Nl e N N N R L A N R R




	мотобур

